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TIME AND WORK

1. Work from Days:

1
ITA can do a plece of work in n days, then A's 1 day's work = E

2. Days from Work:

1
ITA's 1 day's work = o then A can finish the work in n days.

3. Ratio:
If A IS thrice as QDEIEl a workman as B, then:
Time and Work Formula List

Ratio of work doneby Aand B=35:1.

Ratio of times taken by Aand B to finisha work =1 3.
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1. A can do a work in 15 days and B in 20 days. If they work on it
together for 4 days, then the fraction of the work that is leftis:

Explanation:

a1

Als 1 day'swork = — |
19

1
B's 1 day's work = —
20
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2.A can lay railway track between two given stations in 16 days and
B can do the same job in 12 days. With help of C, they did the job in
4 days only. Then, C alone can do the job in:

xplanation:

1
(A+ B+ C)s 1day's work = e
1
A's 1 day's work = —
16

1
B's 1 day's work = —
12

' E's‘ldan"s'h-ﬂrl-c-l l+l Y L 2
' T a 16 12) 0 L4 as) a8

S0, C alone can do the work in ﬁ = 93 days.
J o
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4. Ais thrice as good as workman as B and therefore is able to finish a

job in 60 days less than B. Working together, they can do it in:

Xplanation:

Ratio of fimes taken by Aand B=1: 3.
The time difference is (3 - 1) 2 days while B take 3 days and A takes 1 day.

IT difference of time is 2 days, B takes 3 days.

5
If difference of time is 60 days, B takes [E X ED] = 90 days.
S0, Atakes 30 days to do the waork.

1
A's 1 day's work = —

B's 1 day's work = —

1 1 4 2
A+ B)s 1 day's work = = =
(A + B)Ys 1 day's wor [SD + EID] 50 = a5

45 1
. Aand B together can do the work in ? = EEE days.
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5. A alone can do a piece of work in 6 days and B alone in 8 days. A
and B undertook to do it for Rs. 3200. With the help of C, they
completed the work in 3 days. How much is to be paid to C?

Xplanation:

E‘51daw'5"'nrh—l l+l _1 o _ 1
IR T e g sl 3 24 24

1 1 1
A's wages : B's wages : C's wages = i 4:3:1

1
" C's share (for 3 days) = Rs. [3 X o1 X EEDD] = Rs. 400.
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6. If 6 men and 8 boys can do a piece of work in 10 days while 26
men and 48 boys can do the same in 2 days, the time taken by 15
men and 20 boys in doing the same type of work will be:

Xplanauon.

Let 1 man's 1 day's work = x and 1 boy's 1 day's work = y.

1 1
Then, bx + 8y = 10 and 26x + 48y = >

1 1
Solving these two equations, weqget . x= — and y = —
100 200

15 men + 20 boy)'s 1 day's work = E + E = 1
{ ) yS WO =1 J00 T 200) T

1o men and 20 boys can do the work In 4 days.
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7. A can do a piece of work in 4 hours; B and C together can do it in 3
hours, while A and C together can do it in 2 hours. How long will B

alone take to do it?

Explanation:

1
A's 1 hour's work = E :

1
(B + C)'s 1 hour's work = 5 .

1
(A+ CYs 1 hour's work = E .

1T 1 7
(A+B+CYs1hourswaork= |- + - | = —
} [4 3] 12

[

I 'S W — - - i
B's 1 hour's work [12 E] -

. B alone will take 12 hours to do the work.
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8. A can do a certain work in the same time in which B and C
together can do it. If A and B together could do it in 10 days
and C alone in 50 days, then B alone could do it in:

INSTIZEP Ve loly by

.
(A + B)s 1 day's work = 10

.1
C's 1 day's work = —
il

1 1 6 3
A4+ B+ C)Ys 1 davy's work = — + — = — = —_ ____{I
L 3 ¥ 10 ﬁnj 50 25 W

A's 1 day's work = (B + C)'s 1 day's work ___. (ii)

3
From (i) and (ii), we get: 2 x (A's 1 day's work) = Py
— A'S 1 day's waork = 1
" 50
B's 1 day's work a1 =271 _ 2 _ 1
ys 10 ~ s50) 50 © 25

S0, B alone could do the work in 25 days.
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9. P can complete a work in 12 days working 8 hours a day. Q
can complete the same work in 8 days working 10 hours a
day. If both P and Q work together, working 8 hours a day, in
how many days can they complete the work?

Xplanation:
F Ccan complete the work in (12 ¥ &) hirs. = 96 hrs.

2 can complete the work in (8 X 10} hrs. = 80 hrs.
1 1
. P's1 hour's work = — and Q's 1 hour's work = —
=15 S0

1 1 11

(F + QYs 1 hour's work = [— + —j = —

96 il 480

450
S0, both F and Q will finish the work in [?] nrs.

Nurmber of days of & hours each = ﬂ W l = @ days = E-i davs
! b1 gl 11 777 T T
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10.Ravi and Kumar are working on an assignment. Ravi takes
6 hours to type 32 pages on a computer, while Kumar takes 5
hours to type 40 pages. How much time will they take,
working together on two different computers to type an

assignment of 110 pages?

Explanation:
32 16
Number of pages typed by Ravi in 1 hour = = =
. 40
Number of pages typed by Kumarin 1 hour= — =§.
)
. 16 40
Number of pages typed by both in 1 hour = [E ~ -5] =
. J
Time taken by both to type 110 pages = [‘I‘ID X E] hours

1
= -5: nours (or) & hours 15 minutes.
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12. A and B can do a piece of work in 30 days, while B and C
can do the same work in 24 days and C and A in 20 days.
They all work together for 10 days when B and C leave. How
many days more will A take to finish the work?

INSTIIgrFeie Ty

2(A+B +CYs 1 day's work = ! ! L E l
1 "' T T 120 8

+ + =
30 24 20
) , , 1 1
Therefore, (A+ B+ CYs1dayswork= —— = —.
2x8 16
10 3
Work done by A, B, Cin 10 days = PP = %

. "5y 3
Remainingwork= [ 1- - | = —

11 1
Az Tdayswark= | — = —
1 _ .
Mow, — work is done by Ain 1 day.

3
work will be done by Ain [45 X EJ =16 days.

o0 |

S50,
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11. Sakshi can do a piece of work in 20 days. Tanya is 25%
more efficient than Sakshi. The number of days taken by
Tanya to do the same piece of work is:

INSTIZEP Ve loly by

Xplandauon.

Ratio of imes taken by Sakshiand Tanya= 122 . 100=5 . 4

Suppose Tanya takes x days to do the work.

4.&:20]

5:.4:520 x :}r:[ =

= X = 16 days.

Hence, Tanya takes 16 days 1o complete the work.
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